
Line Revision Sheet (Higher Level): 

Level 1: The formulae 

For questions 1 to 4 below: 𝐴(2, −1), 𝐵(−3, 4), 𝐶(−4, −2), 𝐷(5, 2) 

Q1. (i) Find the distance between 𝐴 and 𝐵. 

 (ii) Find the length of the line segment joining 𝐶 to 𝐷. 

 (iii) Find |𝐴𝐶|. 

 (iv) Find |BD|, giving your answer in surd form. 

Q2. (i) Find the midpoint of 𝐴𝐵. 

 (ii) Find the midpoint of 𝐶𝐷. 

Q3. (i) Find the slope of the line through 𝐴 and 𝐵. 

 (ii) Find the slope of the line 𝐶𝐷. 

Q4. (i) Find the equation of the line with slope 3 that passes through the point 𝐴. 

(ii) Find the equation of the line with slope 
2

3
 that passes through the point 𝐶. Write your 

answer in the form 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0 

(iii) Find the equation of the line 𝐴𝐷. 

(iv) Find the equation of the line 𝐶𝐷. Write your answer in the form 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0  

Level 2:  

Q5. The equation of the line 𝑘 is 2𝑥 − 3𝑦 + 6 = 0. 

 (i) Check if the point (2, 1) is on the line 𝑘 or not. 

 (ii) Write down 3 points that are on the line 𝑘. 

 (iii) Find where the line 𝑘 crosses the 𝑥 and 𝑦 axes. 

 (iv) Using your answers from part (iii), sketch the line 𝑘. 

Q6. The equation of the line 𝑝 is 𝑥 + 2𝑦 − 8 = 0. 

 (i) Check if the point (5, −2) is on the line 𝑝 or not. 

 (ii) Write down 3 points that are on the line 𝑝. 

 (iii) Find where the line 𝑝 crosses the 𝑥 and 𝑦 axes. 

 (iv) Hence, sketch the line 𝑝. 

Q7. Sketch the following lines: 

 (i) 𝑦 = 2𝑥 − 1  (ii) 𝑦 = −3𝑥 + 2 (iii) 𝑦 = 3𝑥 − 2 (iv) 𝑦 = 3 (iv) 𝑥 = −2 

Q8. Write down the slopes of the following lines: 

 (i) 𝑦 = 5𝑥 − 3  (ii) 2𝑥 − 𝑦 − 1 = 0  (iii) 3𝑥 + 2𝑦 + 8 = 0 (iv) 2𝑥 + 5𝑦 = 3 

Q9. Write down the equations of these lines in the form 𝑦 = 𝑚𝑥 + 𝑐: 

 
 

 

 

Q10. Find where the lines 2𝑥 + 3𝑦 = 12 and 7𝑥 − 2𝑦 = 17 intersect. 

Q11.  Find where the lines 3𝑥 + 2𝑦 = −6 and 5𝑥 + 4𝑦 = −8 intersect. 



 

Level 3: 

Q12. Write down the slope of the line that is parallel to the line 2𝑥 − 𝑦 + 3 = 0. 

Q13. Write down the slope of the line that is perpendicular to the line 3𝑥 + 𝑦 − 4 = 0. 

Q14. Write down the slope of the line that is parallel to the line 4𝑥 + 𝑦 − 1 = 0. 

Q15. Write down the slope of the line that is perpendicular to the line 𝑥 − 5𝑦 + 2 = 0. 

Q16. 𝐴 is the point (1, −2), 𝐵 is the point (7, 4) and 𝐶 is the point (4,1). 

 (i) Verify that 𝐶 is the midpoint of 𝐴𝐵. 

 (ii) Find the equation of the line 𝑤 that passes through the point (6, −2) and is parallel to 𝐴𝐵.  

(ii) Find the equation of the line 𝑞 that passes through the point 𝐶 and is perpendicular to 𝐴𝐵. 

Give your answer in the form 𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0. 

Q17. 𝐷 is the point (2, −3), 𝐸 is the point (−4, 2) and 𝐹 is the point (−2, −1). 

(i) Find the equation of the line 𝑘 that passes through the point 𝐷 and is parallel to 𝐸𝐹. Give 

your answer in the form 𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0. 

(ii) Find the equation of the line 𝑙 that passes through the point 𝐸 and is perpendicular to 𝐷𝐹. 

Level 4: 

Q18. If 𝐴(−2,4) and 𝐵(3, −2) are two points, find the equation of the perpendicular bisector of 𝐴𝐵. 

Q19. 𝑙 is the line 3𝑥 − 4𝑦 + 7 = 0 and contains the point 𝑃(−1, ℎ). 𝑚 is the line 4𝑥 + 3𝑦 − 24 = 0 and 

contains the point 𝑄(𝑘, 0). 

 (i) Find the values of ℎ and 𝑘. 

 (ii) 𝑙 and 𝑚 intersect at the point 𝑅. Find the coordinates of 𝑅. 

 (iii) Prove that the angle |<𝑃𝑅𝑄| is a right angle. 

Q20. 𝐴 is the point (2, −3) and 𝐵 is the point (−2,1). 

 (i) Find 𝐶, the midpoint of [𝐴𝐵]. 

  

𝑝 is the line through 𝐶, perpendicular to [𝐴𝐵]. 

           (ii) Find the equation of 𝑝 and write your answer in the form 𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0. 

 (iii) Show that 𝐷(3,2) is on the line 𝑝. 

 (iv) Prove that the triangle 𝐴𝐵𝐷 is isosceles. 

 

 Q21. 𝑃 is the point (1, −3), 𝑄 is the point (−2,1) and 𝑅 is the point (4, −2). 

 𝑆(2, −1) is a point on the line 𝑄𝑅. 

 (i) Show that 𝑃𝑆 is perpendicular to 𝑄𝑅. 

 (ii) Find |𝑄𝑅|. 

 (iii) Given that |𝑃𝑆| = √5, find the area of the triangle 𝑃𝑄𝑅. 

 

Q22. The line 𝑎: 3𝑥 − 5𝑦 + 15 = 0 and 𝑏: 3𝑥 + 4𝑦 − 12 = 0 cut the x-axis at the points 𝐶 and 𝐷, 

respectively. 

 (i) Find the coordinates of 𝐶 and 𝐷. 

 (ii) Find 𝐸, the point of intersection of 𝑎 and 𝑏. 

 (iii) Show the lines 𝑎 and 𝑏 on a coordinate diagram. 

 (iv) Find the area of triangle 𝐶𝐷𝐸. 

 

 

 



Answers: 

Q1. (i) √50 or 5√2 or 7.1  (ii) √97 or 9.85 (iii) √37 or 6.08 (iv) √68 or 2√17 

Q2. (i) ( −
1

2
,

3

2
 ) or (−0.5,1.5) (ii) ( 

1

2
, 0 ) or (0.5,0)  Q3. (i) −1  (ii) 

4

9
 

Q4. (i) 𝑦 + 1 = 3(𝑥 − 2) or 3𝑥 − 𝑦 − 7 = 0 (ii) 𝑦 + 2 =
2

3
(𝑥 + 4) or 2𝑥 − 3𝑦 + 2 = 0 

 (iii) 𝑦 + 1 = 1(𝑥 − 2) or 𝑥 − 𝑦 − 3 = 0 (iv) 4𝑥 − 9𝑦 − 2 = 0 

Q5. (i) Not  (ii) (3,4), (−3,0), (0,2), (6,6) … .. (iii) (−3,0), (0,2)  

Q6. (i) Not  (ii) (2,3), (4,2), (6,1), (8,0) … ..  (iii) (8,0), (0,4) 

Q8. (i) 5 (ii) 2 (iii) −
3

2
  (iv) −

2

5
 

Q9. (i) 𝑦 = 2𝑥 + 1  (ii) 𝑦 = 𝑥 − 1  (iii) 𝑦 = −2𝑥 − 1 

Q10. (3,2)  Q11. (−4,3)  Q12. 2 Q13. 
1

3
 Q14. −4 Q15. −5 

Q16. (i) (4,1) (ii) 𝑦 + 2 = 1(𝑥 − 6) or 𝑥 − 𝑦 − 8 = 0 (iii) 𝑥 + 𝑦 − 5 = 0 

Q17. (i) 3𝑥 + 2𝑦 = 0 (ii) 𝑦 − 2 = 2(𝑥 + 4) or 2𝑥 − 𝑦 + 10 = 0 

Q18. 𝑦 − 1 =
5

6
( 𝑥 −

1

2
 ) or 10𝑥 − 12𝑦 + 7 = 0 

Q19. (i) ℎ = 1, 𝑘 = 6 (ii) (3,4) Q20. (i) (0, −1) (ii) 𝑥 − 𝑦 − 1 = 0 

Q21. (ii) √45 or 3√5 or 6.7  (iii) 
15

2
 or 7.5 

Q22. (i) 𝐶 = (−5,0), 𝐷 = (4,0) (ii) 𝐸 = (0,3)  (iv) 
27

2
 or 13.5  


